




coil

teflon

glass-fiber

air

b

h

thermocouple



Time [ sec. ]

0 1000 2000 3000 4000 5000 6000 7000

Te
m

pe
ra

tu
re

 [ 
℃

 ]

0

30

60

90

120

150

180

Φ 0.7

750AT inside 
750AT surface

1000AT inside
1000AT surface

Time [ sec. ]

0 1000 2000 3000 4000 5000 6000 7000 8000

Te
m

pe
ra

tu
re

 [
 ℃

 ]

0

20

40

60

80

100

120

Φ 1.0

750AT inside
750AT surface

1000AT inside
1000AT surface







insl.

coil

∂ T/∂ x = 0

- k (∂ T/∂ x) = h ( T∞ - Ts )

- k (∂ T/∂ x) = h ( T∞ - Ts )
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